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PRACTICE EXAM #4
Ch 120





Name__________________________

Part I  Multiple Choice.  Four points each.  Be sure to answer every question, even if it is

           a guess!

1.  Which compound, of those below, would definitely not dissolve in water?


a.




b.
          c.




d.

2.  Which compound, of those below, would definitely not dissolve in the organic solvent 

     hexane, which has as its formula C6H6?


a.




b.

 
c.




d.

3.  Which compound, of those below, would have the highest melting point?


a.




b.


c.




d.

4.  For a solution with a pH of 9.04, what is the hydrogen ion concentration?


a. 1.09x109 M


b. 2.4x108 M


c. 3.5x10-9 M




d.  9.1x10-10 M


e. 2.1x10-8 M
5.  How many moles of ammonia are in 45.0 ml of a 2.40 molar solution of ammonia?

a. 0.108 moles



c. 18.7 moles

b. 0.0187 moles



d. 108 moles

6.  What is the pH of a solution which is 0.00015 M in NaOH?


a. 3.82


b. 10.18

c. 4.14


d. 9.05

7.  If 4.00 ml of a 2.50 M solution of calcium chloride was diluted to a final volume of 15.00 ml,

     what would the concentration of the diluted solution be?

a. 3.02 M




c. 9.38 M

b. 0.667 M 




d. 0.0417M
8.  How many grams of potassium chloride would be contained in 75.0 ml of 0.0200 M

     solution?


a. 0.893 g

b. 11.2 g

c. 0.112 g

d. 8.93 g

Part II   Fill-in  (2 points each)
9.  For the substances below, which type of intermolecular force is predominant?

a.                                 ___________________
b.                             ____________________

c.                  ________________________

d.                           _____________________

e.                                       __________________________

Part III   Short Answer.   Four points each.
10.  Define the term equivalence point as it relates to an acid/base reaction.

11.  What is meant by the term “like dissolves like?”
Solved Problems.  Points as stated.
12.  What volume of 0.1047 M sodium hydroxide will be required to titrate to endpoint 10.00 ml 
       of 0.06950 M selenous acid (H2SeO3)? (7 pts)
13.  Assume that the same sodium hydroxide as in the problem above were used to analyze an
       unknown monoprotic acid whose empirical formula is C2H4O.  If titration of 0.3304 g of the 
       unknown acid required 23.91 ml of the NaOH solution to reach phenolphthalein endpoint, 

       what is the molecular formula of the unknown acid? (8 pts)

16.  If one were to combine 50.00 ml of 0.150 M sodium hydroxide with 35.00 ml of 0.200 M 

       lithium hydroxide, calculate the concentrations of all substances in the solution after 

       reaction, as well as the pH.  (10 pts)
17.  If one were to mix 15.0 ml of 0.500 M lead (II) nitrate with 25.0 ml of 0.400 M sodium 

       sulfate, what mass of precipitate would be produced, and what would be the concentration of 

       the remaining ions in solution? (10 pts)

18.   How would you prepare 50.0 ml of 1.50 M magnesium chloride?  Use a sentence in your

        answer to describe what you would actually do.  Include the proper name for the relevant 

        piece of equipment. (8 pts)

19.  Ex cr.  If carbon dioxide is bubbled through a solution to which is added 15.00 ml of 0.129M

       potassium hydroxide until a phenolphthalein indicator turns from pink to clear.  What 
       volume of CO2 gas will be required to reach the endpoint?
